Make: Subaru

Model: 2008-2010 Impreza WRX

AN 8 o

| LN Application: Fog Light Conversion

A SUBSIBIARY OF PENTECH AUTOMOTIVE

PACKAGE CONTENTS TOOLS
ary Qry Qry 10mm Socket/Wrench
2 | Fog Light Mounting Bracket 4 | 1/4” Flat Washer 7/16” Socket/Wrench
2 | 3/8”-16 x 1” Hex Bolt 2 | 1/4” Split Lock Washer 9/16” Socket/Wrench
4 | 3/8” Flat Washer 2 | 1/4”-20 Hex Nut 3/8” Drill Bit
2 | 3/8” Split Lock Washer Panel Removal Tool
2 3/8”-16 Hex Nut
2 1/4”-20 x 3/4” Hex Bolt
\
\
\ \
Remove fog light splash guard by unfastening the Remove the factory fog light by unfastening the factory
plastic clip and 10mm head screw securing it and pulling hardware. There are (3) fasteners that need to be removed to free
it downward. the fog light. Note: Aftermarket Fog Light shown, factory fog light
1 will look different but attaches to the same mounting points. 5
Enlarge the hole on the plastic bumper mounting tab with Take the new mounting brackets and assemble the fog
a 3/8" drill bit to accomodate the new 3/8” mounting lights in them (as shown above) with the included fog light
hardware. hardware.
3 4

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold

as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system

(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech

Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over. Rev. 05/21



The driver side assembly mounts as shown. Insert (1)
3/8"-16 x 1" Hex Bolt and (1) 3/8" Flat Washer through the
fog light bracket and bumper mounting tab. Then fasten

Insert (1) 1/4”—0 x 3/4" Hex Bolt through the top bumper
mounting tab and fog light bracket. Fasten on the other
end with (1) 1/4” Flat Washer, Split Lock Washer, and Hex
Nut.

with 3/8" Flat Washer, Split Lock Washer and Hex Nut. 5 6
Confirm the position of the light in the bumper fog light Completed assembly shown.
hole is center and tighten all hardware. Repeat the process
on the passenger side.
7 8

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold
as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system

(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech

Automotive assumes no liability for injury, loss, incidental or consequential damages in the event of a collision or roll over.

Rev. 05/21



